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101|R#A7 L 442 267 175| Kg |£EE 1,080 270| £ 2,160 540
102|357 L 2,048 2| 2046 Kg |EE 810 BIE 3,845 464
111|&EEF £ 1,033 1| 1032 Kg |EE 54 K5 - Al 1,890 270
113|RAV S 28 16 12| Keg |EE& 2,052 357| 3,240 2,160
114|B5EFE 172 20 152| Kg |ERS 1,296 BiE - BE 2,592 216
15[ 1= 4 Ke |EE 1,620 973

117[1E 7 3| Keg |EE 270 FfE 3,622
121|rblE &€ 181 60 121 Kg |E& 1,296 270|BER 2,700 864
134[#= = 352 247 105 Kg |=# 2,500 1,400| =4 2,700 1,620
137|&5ES. < 478 365 113| Kg |BE 4,536 2,160| &% 4,860 1,188
138|Hm % 2 59 29 30| Kg |EE 1,080 ®s 1,404 1,134
140(5 I 11 11| Kg b 28,800 16,200
147|EZ O 70 8 62| Kg |hiB 5,400 BRE - 48 7,020 3,000
168|BIEM AL H 283 13 270 Kg |8 1,404 IR 1,998 864
201|{Lb L 759 759 Kg T 360 72
203|/Né L 110 110| Kg =5 378 238
206| = 1F 220 220| Kg KI5 778 605
208| Mo % 7 71 Ke L 2,376 1,404
2094 B & LA 5 5| Kg s 1,404

210{1F AL 20 20 Kg |Ei& 6,210 2,160

212|&5E.3 Y 951 951| Kg E - BB 2,938 1,188
251|< £ <3 184 184 Kg =] 3,942 3,537
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254|ED12ELCA 340 24 316| Kg |FFE 1,836 AR L 2,354 810
305|xAah>0b 10 10| Kg BJE 1,944

315|7: B9 6 41 411 Kg = I 2,484 2,376
319|2h o 94 21 73] Kg |K&» 1,296 RI& 2,052 1,142
332|= 13 WA =EF 161 161] Kg Bl = 2,052 1,944
351(4EH 20 5 15| Kg [®E 3,888 =, 9,504 4,698
35411FxE<Y 67 67 Kg =5 2,916 1,404
355(mp Y 120 120 Kg EH - P E 1,620 600
356(L L& 45 45| Kg SER 1,404 1,080
357|7RE 81 81| Kg i 2,916 1,080
358|KE 10 10| Kg FAN 1,944

362| & 418 418 Kg FJE 3,024 432
4025 E 15 15| Kg FAN 5,400 4,860

2/2




SFISAELH27TH (£8ER)

P T R SR ST T ONES) e H

T HEInt e e 1.9 [
(it T BB 5 Te)
4, 7 H R (kg) o o5 FRAXIER |
S s — — i AL — — — —
AH #h5e FRIELS | FEHH =B () ) | e FEHH mfE () EE) | ZfE(M)

70110 BA 386 319 67| Kg |EE 4,892 3,711 &= 4,863 756
71019 2 ®HA0F 34 341 Kg Ko 702 504
BlBEFALANIN 294 261 33| Kg |EE 963 62| B1R 1,782 574
755(Fd L 89 891 Kg RIF 1,296 648
76l|1b Y AEE 18 18 Kg s 2,700
76713725 WD 9 9] Kg EE 1,260
801 [3BAT = 1S 782 782 Kg FE-mA 1,728 540
8051 1E 200 200 Kg JbiF 972 648
810|FAKF 92 921 Kg bF 2,916 1,296
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A—uhh 10 10| Kg 2P 702
AN 40 401 Kg i 1,450

AERAT AT 450 450 Kg 2P 2,592 440
ARTEZL 11 11| Kg 2Pl 1,500

JE WA AE 20 201 Kg Bl = 1,050 820
iy} 15 151 Kg i 1,188 1,026
Jarys: e 1,028 1,028| Kg 2Pl 2,500 980
B 13 13| Kg JbF 5,184 4,000
BRI 275 275 Kg Bl = 1,100 1,050
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